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@ +AH= 19| 2))
Mo fa= > o o = 2 &E L
el
200 M2l 1,359,266 1,306,958 252,308
210 BAEAN 2 359,266 306,958 252,308
216 OlRt==2 359,266 306,958 AB2,308
216-01 ZS30Z3 0k~ 222,266 256,958 34,692
OlI=Z2OIkt 256,958
ALSISXAE = 40,760
KHEAE = 67,000
LoISXIAE = 38,125
ZHOHRI =X AHIE = 111,073
21602 SI2tsX3a =0l 137,000 50,000 A87,000
QIZFS XS0l KHAHEAHH) = 50,000
220 LAIE A2l 1,000,000 1,000,000 0
224 M= 1,000,000 1,000,000 0
22403  J|Et2IAHE&EAZ 1,000,000 1,000,000 0
LS| M3 = 1,000, 000
600 KIZLIHLU XSS+ 9,538,863 8,291,409 A1,247,454
630 Ol xIZ2al= 9,538,863 8,291,409 N1,247,454
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631 OIxl=2l= 9,538,863 8,291,409 A1,247,454
631-01 OIXI=al= 9,538,863 8,291,409 A1,247,454
OIxIZ 2= 8,291,409
ARSIERIAE 1,424,147
KHEAE 2,185,968
LOISAIAE 1,381,876
ZHOHRI =X AHIE 3,299,418
= & & A 10,898, 129 9,598,367 1,299,762




